110/206, G.T. ROAD, (NEAR GUMTI NO. 5 CROSSING) KANPUR
Phones : 0512 - 2557663, 2553090, Mobile : 9839182779

nstructor - RAM GOPAL SINGH

ARYA NAGAR INTER COLLEGE 110/206, G.T. ROAD, KHALSA GIRLS INTER COLLEGE
ARYA NAGAR (NEAR GUMTI No. 5 CROSSING) GOVIND NAGAR
KANPUR KANPUR KANPUR
MP MCA - 2010
L log,(2) is: v+z X x
171 1 6. Thevalueof | ¥ z+x ¥ |is:
(@) I+=+—=+—+.cnu. @w
237y z z ‘x%y
vy (@) 2z () 4y
Bl I——o= i 0 (e) xyz (d) 4xyz
2 3 4 7. The system of equations
x+y+z=2, 2x4y-2=8, 3x+2y+hkz=4
(e) 1+ 3 + 5 Frvessuns - will have unique/solution if
(@) k=0 (b) k=0
('d)1+£+£+ ........ = e)d<k<lI (d2<k<2
2 4 8= The slopestof three normals of a parabola y* = 4x
2. The coefficient of x'°dn theseries of e*, is: passing through the points (18, 12) are :
(@) 2°/5! ®)27/ 10! (@, 2, 3 ®) 1,2 -3
(c) 2% /20! (d) none of these (¢) 1, 28 (d) none of these
e i 9. If the peints (0, 0), (1, 0), (0, 2) and (0, a) lie on @
3 If y=x——g—r —+ TR |xl<]1 then x is: cirele then o is :
2y 4 (@), 1 ®) 4, 2
B y? 58 ¥y (c) 0,2 (d) none of these
(@) y+ a7 o ;-h ------ (b) y-— ; + 57 z 10: The coordinates of a point whose focal distance from
. \ o the parabole yv* = 8x is 4, where the point lies
2. 08 on the parabola, are :
(e) y "G (d) none of these (@) (2, 4 ®) @ 4
(c) (2, £4) (d) (2, £2)
x+1 2% 3x 11. Ifthe focus of a parabola is (3, 0) and its directrix
4 If ex b’ +cx+d=|2x+3 zx+l x is x +2 =0 then the equation of the parabola is :
. > (a)y* = 5(2x ~1) B)x2 =52y ~1)
2-x 3x+4 Grel (©)y:=52x+1) (d)x2=52y + 1)
then the value of d is: 12. Ifthe inner-segments of a focal chord of a parabola
(a) 2 (b) -2 v?=4ax are 3 and 5 then the value of a is:
(e) 4 d) 1 (a) 15 ) 15/2
(c) 15/4 (d)15/8
65 240 219 13. The equation of the chord of the hyperbola
5. The value of 240 225 198| is : 4dx? —y* = 4 which is bisected at the point (2, 3)
19 198 ‘181 il
> (@)2x+3y=1 (b) 2x -3y =1
(a) 1000 (b) 779 (c)8x-3y=7 (d)8x+3y=7
(c) 679 (d) 0 I4. The length of the latus rectum of the ellipse

5x° +.9y2 =45, is:
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15.

16.
17.
18.

19.

21.

26.

A110/206, G. T. ROAIT, L=
@ : (0512)

(@)5/3 ®) 45 /3
(©10/3 (d) V10 /3

The curve represented by
x=3(cost +sint), y=4(cost—sint),

is,a/an

(a) Ellipse (b) Parabola

(¢) Hyperbola (d) Circle

The eccentricity of the ellipse 9x* + 5y* 30y =01is
(@) 1/3 ®2/3

(c)3/4 (d) none of these

How many menus are there in MS-Word ?

(a)8 (b)9

(e)7 (d)6

One microsecond is :

(a) 107 seconds (b) 10 seconds

(c) 10* seconds (d) 1072 seconds

The unit of measuring a computer’ s speed is

(a) KB (b)MB

(c) MIPS (d) CPS

1KB is:

(a) 10 Bits (b) 1000 Bytes

(¢c) 1024 Bytes (d)1GB

Loading the operating system in a computer;is :
(a) Rating (b) Booting

(¢) Dating (d) Shut-down

96% of the population of a town is 23040. The total

population of the town is :

(a) 25000 (b) 24000

(c) 23000 (d)22000

Which company has developed Windows Operating
System ? '

(a) IBM (B) SUN
(¢c)INTEL (d)Microsoft

The value of 8, is:

(a) 1000, )10,

(c) 100, _ (d) none of these
The valueof 1010, is :

(a) 100, (b) 10,

(¢). 1000, (d) none of these

If thé'eost of a book worth Rs. 50 is increased by
Rs. 25, then the rate of increase is :

(a) 50% (b) 25%

(c) 20% (d) 10%

The solution of the differential "equation
%—;:23/2, is:

(a)x=%"+cy (b) xi=y'+e
(e)x=y"+cy (d)x=ey

The surface area of the solid generated by the
revolution of the astroid x*".+ y*'7 = a?? or
x =a cost, y=asin’t about thex-axis is :
2
TQ
(a) —
&
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. The solution of the

dra® @ 127a’
5 5
differential equation

(c)

d :
R

dx

2V jg:

3 3

. x y
(a) e =e* “—+e¢
J

3
(c) e* e +e (d) e-”:%+c

. The solution of the differential jequation

gi+‘ytanx =secx, 18
dx"

(a) ¥ =csinx (b) ¥y =¢ccosx

(c) y=ginx-+ccosx (d) y=co‘.§5c*+cs£nx

A coin is tossed 4 times. The probability of tail
coning at least once, is:
(@)1/16

(c)15/16

®) 114
(@3/16

. The solution of the differential equation

dy 05
(x+y+1)—=1] iss
) e :

®) x=ce’! —(y+2)
(d) x=ce’ —(y+1)

(@) x=ce’ ! +(y+2)
(e) x=ce’+(y+2)

. The solution of the first order difference equation

(k+ 1)y, ky, =2k =3 k=12 3y is :

2 .
(ﬁ)'_‘)«‘,ﬁ—; (b) yk*k

2

Oy, =1-1 @y =1-7

k k

L The solution of the difference equation

Vi =0y, a#l, is:

(@ y, =ca b y, =ca®?
(e) vy, = ca®! (d) none of these
. In the expansion of (x -y + 2z), the number of
terms is :
(a) 63 (b) 36
(c) 27 (d)72

. The values of x and y that simultaneously satisfy

the equations 2x +3y =5 and 7x -4y =3 are:
(a) 0, 1 (b) 1,0
(c)d, 1 (d 1,1

. The value of y in the solution of the equation

2% — 9% _ Jg is:
(@) 0
(©1/2

(b)1/4
(d)3/4
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L If A{J‘ 2}3:[71
30 2

. The condition for which the system of equations

kx —y =2 and 6x -2y =3 has a unique solution,
is

(@) k=3
() k+0

(b) k=3
(d) k=0

. A number consists of two digits whose sum is 10.

If 18 is subtracted from the number, the digits
are reversed. Then the number is :

(a) 64 (b) 46
(c) 55 (d) 73
i z
Lim|:(1+£] ] is :
nso n
(a)e (b) e*
(c) e (d) none of these
If  (d+%)" =c,+e;x+ex" +ote,x”,  then
¢y +2¢5 +3c3+.nn. +ne, is:
(a)n.2" (b)n.2"
(¢)n.2%7 (d) 2"

n
. In the expansion of (1 +x)"[1 +£J , theterm
£

independent of x is:

(@) cg +2¢4......... +n+1)
2

(b) (eg+e;+....... +c,)

() g+, +cZ

(d) none of these
2n

I+x+x05 L o, + agmhax®+....... +ag, %

then the sum a,+az+ag+....... is equal to :
(a) 31 () 3"
(c) 31 (d) none of these

. If in a square matrix A=[a;], a; = i - j° then
Alig: '
(a) Unit matrix
(b) Zero.matrix

(¢) Symmetric matrix
(d) Skew symmetric matrix

0 >
3:| then the ‘true

statement is :

(@) A?=A (b) B°=B
(c) AB=BA (@ AB=R?
103 :
L If A=|2 1 1| then ladj(adjA)l, is:
00 2
()8 ()16
)2 (d)0
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5L

3

If A{_‘l 2}:{_4 I} then A is:

3 1 7 7
y 1 -1 b DI
Jg 3 ®ly 3
r 1
(c) [_2 3} (d) none of these

. The centres of circles x*+y*=1,

Z+y¥46xe2y=1 and ¥ +y* -12x+4y=1
are :
(a)eoincident
(e) non~collinear

(b) collinear
(d) none of these

. If 8x -4y +4 =0 and 6x -8y “7 =0 be the

tangent lines of the same circle, then the radius
of the circle is :

@3 b)3]4
(c)3/2 (d)3/8
. If [m L} m, >0, i S15253, 4 be four different
m; :
points on the circle x% #3° =a* then mmmm,
is:
fa) 1 b a
(c)a* (d)a?

If the square of lengths of tangents drawn from a
point on the circles x* + y* = a*, x* + y* = b4,
x +y? = arein AP then a b, c arein

(@) A.P; (b) G.P.

(¢) HP (d) none of these
. If the line £+% =2 touches the curve

a
R I
o ¥ . .
;} +[3} =2 at the point (a, b) then n is:

(@)1 b)2

(c)3 (d) All non-zero values
L If y=e" T then L W

dx
y . Y
(a) 7I+y (b) —yﬁl
(¢) = (d) none of these
I-y
L If y=tan ' x+tan™ i} then L. s
X dx

(a) 1 (b) 4

(c)2 (d) 0
. If y=tan™ 7a3inx+b“_}sx1 then % s :

acosx —bsinx dx
(a) 1 (b) 4
2557663
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A10/206, . IT'. ROAIDD, ==, 0512 2557663
(Wear Gumti No. 5 Crossing), Kanpur ﬂ i ( ) 2553090

(c)0 d) 2

If curves y = 1 —ax* and y = x* cut perpendicular
then a is:

@1/2 ®)1/3

(c) 2 (d) 3

The slope of the tangent on the curve

y=-x%+3x? +9x-27 is maximum when the

value of x is:

(a) 1 b) 3

(c1/2 (d)1/2

The angle that the tangent al the point ¢ = 7n/4

on the curve x=e'cost, y=e'sint, makes with

the x-axis is :

(@)n/2 ®)n/3

(c)n/4 (d) 0

The equation of the normal at the point t = 1 on
the curve x =1 y=2t is:

(@)x+y=1 blx+y=2
(c)x+y=3 (d)x+y=4
The maximum value of sinx+cosx, is:
(a) 1 b 2
(c)N2 (d)N3
The maximum value of log , 18
x
(a) e B 1/e
(c) 2e (d2/e
) i dy

If x¥=e*" then — is8:
f x¥ =e =
o log x logx

(1-logx)® (1+logx)

log x

(c) ———— = (d) none of these

(1 +log x)° f
If e and e’ be the eccentricity of a hyperbola and
its conjugate, then iz + Lz is:

e e'

(@) 0 b)1
(@) 2 (d) none of these

The product of the lengths of the perpendiculars
drawn from the foci on any tangent to the hyperbola
2 2

x° oy .
a—sz—gzl, 18
(a) a?b? (b)a? (b2
(c)a? (d) &

i dy.
If xPy? =(x+y)P"9 thend==is :
4 dx
(@y/x Blxly
© =2 @
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. If y':Jsiner sinx+

If y=sin”[ 2x2] then = is:
I+x
2 2x
(a) ; (b)
“ 1+2% I+x%
2x 2
(c) - ; d) - ;
o I+x° W I+x%
iy dy .
. If x=a(t==stnt), y=all-cost) then . is
(a)tant (b) cot t
(d) cot (t/2)

(c) tan (£12)

Wsinx oS x
951 CF =

cos x
(c) e (d) none of these

. If the marked price of an article is Rs. 380 and

a discount of 5% isigiven ont, then its selling

pricels: :
(a) Rs. 350 b) Rs. 340
(c) Rs. 358 (d) Rs. 361

If a, b, ¢, d, e are five consecutive odd integers
then their average is :

2a+b+e+d+e abede
(@) e (b) 5
(c)a+4 (d) none of these

The=mean of 19 observations is 4. If one more
observation of 24 is added to the data then the
newmean is :

(@) 4 ®)5
(e)6 (d)7
. If %=% then
i ac:;bzc;—zd @ aa;b:c;d
(c) Zf‘z:ig (d)ac=bd

74.

. The age of a father 10 years ago was thrice the age

of his son. Ten years hence, the father’ sage will be
twice that of his son. Then the ratio of their present
ages is :

(@?7:3 (b)§:2

(€9:2 (d) 13 :4

Acan doaworkin 6 days, Aand B can do it together
in 2 days. Then B can do the work alone in the
following days :

(a)3 (b)4
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